














= f’;%lw K n (é’g_g.) < e;,gcg,stf/(Q

- - — _ Ry _ ©.082K 40D
C) Ty=dook ,Ua=3Va=m. (-, Pu= v
ATO‘aueAU dH?yO — .U
= 'k
Z}/%awc;a Ba= Wz _j PQLV j\\; _0_5@-&\/

““RT;Q( = k()

= 8314 xa00%dn2

q = 26617
2=— Jmo .13
i NK (s
d) Py = lugatm Ty =200 Ve = = 10.b L

AUz novaT = GAT= G (800 ~dop)
=-(00Cy = -(0D%, BalU=—]2U]

AHz NCpAT = ¥/, - B3 —loo="2008y = Bp=y
4,: %P AU = —20Nn8 ti24n= -'B%)’j

45= fT"‘—‘? jT"’" -—\—r\cpoﬂ V\CP.QMCT?)

= Q.SxB.a\Ur&nZaE = -3anaTs/.

5o AU AUt 402t AUs 14U, = D+ 2Un4 © —RUN =T
= %AHT =020y 0 20N6 =D Y
U\I: Wi+ WatrWstWg= 0404 3b5 Lk — 821 = 2823y
46 = HAs = aiz+2588 A% =50

—

2 = (5. 9N












